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Fit improvement

• Hit selection window turned out to be too small: [-100, 900] ns
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MC hit residuals with respect to true decay vertex
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MC hit residuals with respect to true decay vertex
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MC hit residuals with respect to reconstructed vertex
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MC hit residuals with respect to reconstructed vertex
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Fit performance
Tau lengths > 10 m, neutrino energy > 100 TeV
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Fit performance
Tau lengths > 10 m, neutrino energy > 100 TeV, Prefit cut
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Fit performance

• Improvement in angular comes mainly from E > 500 TeV, len > 3 meters

Neutrino energy > 100 TeV
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